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 Directions: (1-4) Out of the four altarnatives, choose the one which 
best expresses the meaning of given word and mark it in the Answer.  

1.  Ans.(b) Diligent –m|eh] ifjJeh 

2. Ans. (c) Lucid  (Adj) clear , easily understandable  Li"V ]cks/xE; 

3. Ans.(a) 'kCn obtuse (Adj) dk vFkZ gS dqf.Br ]dqUn ] HkksFkjk (showing or 

unwilling to understand something blunt) 
4. Ans.(c) Ample ‘'kCn dk vFkZ gS Enough or more than enough, (of a 

person’s figure) large often in an attractive way (izpqj) ftldk foykse gS 

&Mearge  (vYi U;wu) 

 Directions: (5-6) Out of the four altanatives, choose the one which 
best express the meaning of given word and mark it in the Answer  

5. Ans.(c) Shortcoming dk vFkZ gksrk gS Defect, drawback (nks"k detksjh weakness 
'kCn dk Hkh ;gh vFkZ gS 

6. Ans.(a) Docile 'kCn dk vFkZ gS vklkuh ls fu;af=kr ;k fl[kkus ;ksX; Submissive 'kCn 
dk Hkh vFkZ gS 

7.  Ans.(a) Savour (N) Taste, odour  
 Flavour Lokn lqxa/ 

 Protector(N) vkJ;nkrk  

 Sour (Adj) bitter or sharp in taste [kVVk  

 Flavour (N) Sensation of teste and smell Lkqxa/] Lokn dk vglkl  

8. Ans.(b) Commend dk vFkZ  gksrk gS Appland, complement(iz'kalk djuk] ljkguk 

djuk ) praise dk Hkh ;gh vFkZ gS 

 Directions: (9-13) Four alternatives are given for the 
idiom/Phrase bold in the sentences. Choose the alternative 
which best expresses the meaning of the given idiom 
/phrase and mark it in the Answer –sheet. 

9. Ans.(a) Turn tail-run away, run like a coward nqe nckdj] Hkxuk] dk;j dh 

rjg Hkkxuk 

10.Ans.(d)take time by the forelock- to take prompt advantage of an 
opportunity ,act swiftly and in time fdlh volj dk lgh le; ls iwjk ykHk 

mBkukA 

11. Ans.(b) ‘if somebody  is under a cloud other people think that they 
have done something wrong and are suspicious of them, blfy, fodYi 

(b) mRrj gksxkA 

12. Ans.(a) Throw up one’s card- surrender, give in leiZ.k dj nsuk] gkj eku 

ysukA 

13. Ans. (c) OkkD;ak'k To face the music’ dk vFkZ gS & vkykspuk dk lekuk djuk* 

 Directions: (14-18)   Sentences are given with blanks to be filled 
in with an  appropriate word (s) Four alternatives are suggested for 
each question. Choose the correct alternatives out of the four and 
indicate it by blackening the appropriate rectangle in the Answer –
sheet. 

14. Ans. (b) fjDr LFkku es 'kCn ‘corpses’ ('ko]yk'k) dk Ikz;ksx mfpr gksxkA 

15. There was so much …….material in the speech that it was difficult to 
know what the speaker wanted to say. 

 (a) variegated (b) extra 
 (c) superficial (d) beautiful 
 Ans.(c) fjDr LFkku es 'kCn ‘superficial’ (fNNyk]Lkrgh) dk Ikz;ksx mfpr gksxkA 

16. I will have to ……on your opinion in this matter. 
 (a) rely (b) believe 
 (c) stand (d) follow 
 Ans.(a) fjDr LFkku es 'kCn ‘rely’ dk Ikz;ksx mfpr gksxkA 

 Phrase ‘rely on’ dk rkRi;Z gksrk gS – put trust in with confidence; be 

dependent on (fdlh ij fo'okl j[kukA fdlh ij fuHkZj gksuk) 

17. Each person had to……himself a character in the musical play. 
 (a) attest (b) administer 
 (c) a sign (d) assign 
 Ans.(d) fjDr LFkku es 'kCn ‘assign’ (fu:i.k] djuk fufnZ"V djuk) dk Ikz;ksx mfpr 

gksxkA verb ds :i esa assign’ dk rkRi;Z gS & give an assignment to a person, 

to a post, or assign a task to a person. 
18. Ans.(c) okD; ds Hkko ls izdV gks jgk gS fd fjDr LFkku es 'kCn ‘retreat’ (ihNs gVuk) 

dk Ikz;ksx mfpr gksxkA 

 Directions: (19-23)  Some  of the sentences have errors and some 
are correct. Find out which part of a sentence has an error and 
blacken the rectangle corresponding to the appropriate letter (a,b,c). 
If a sentence is free from errors, blacken the rectangle corresponding 
to (d) in the answer Sheet. 

19. Ans.(a) bl okD; esa ^is having’ dh txg 'has dk iz;ksx gksuk pkfg,A 

 vRk% error fodYi (a) es gSA 

20.Ans.(a) when she knocked the door’ dh txg 'when she knocked at the 

door’ gksxk A knock ds lkFk at dk iz;ksx gksrk gSA 

21. Ans.(a) Greatly dk iz;ksx verb ;k participle ds iwoZ gksrk gSA vr% ;gka great to 

our……dk iz;ksx gksxkA 

22. Ans.(c) it is not proper to use ‘the’ before Great Britain, but the 
United Kingdom 

23. Ans.(b) Causative Verbs ds lkFk Infinitive without to’ dk Ikz;ksx gksrk gSA vr% 

;gka do the sum……dk iz;ksx gksxkA 

 Directions: (24-33): A part of the sentences is bold . Below are 
given alternatives to the bold part at a,b, and c which may improve 
the sentence .Choqose the correct alternative. In case no 
improvement is needed, your answer is ‘d’. 

24.Ans.(b) ;gk like coward dh txg ij lgh gksxk like a coward. 

25.Ans.(d) No improvement  
26. Ans.(c) few dk vFkZ gS & FkksM+k ugha ds cjkcj  

 A few dk vFkZ gS &FkksM+k 

 The few dk vFkZ gSA tks dqN FkksM+k &lk 

27. Ans.(a) Dependence dks ns[kus ds fy, on dk iz;ksx djrs gS tSls A lot hangs on 

this decision. 
28. Ans.(b) 
29.Ans.(b) dkykafdr 'kCn ds LFkku ij detrimental’ vfgrdkj] gkfudj)dk Ikz;ksx mfpr 

gksxkA  

30. Ans.(b) dkykafdr okD;ka'k ds LFkku Ikj wwe are fortunate to see’ dk iz;ksx mfpr 

gksxkA 

31. Ans.(c) fn;k x;k okD; compound sentence gS bls pkj  izdkj ds conjuctions 

(cumulative,alternative, adversative vkSj IILative ) dk iz;ksx djds cukrs gS 

;gka tksM+ crkus okys ;kfu Cumulative, conjunction ‘not only- but also’ dk 

iz;ksx mfpr gksxkA vr% dkykafdr okD;ka'k ds LFkku ij also Hindi’ dk iz;ksx mfpr gksxkA 

;gka Not only’ ds ckn Noun (English) vk;k gS blfy, but also ds ckn Hkh Noun 

dk Ikz;ksx gqvk gS fu;e gS fd ;fn not only ds ckn Noun vk;k gS rks but also ds ckn 

Hkh Noun gh iz;qDr gksxk] verb ugha mlh izdkj ;fn not only’ ds ckn verb vk;k gS rks 

but also’ ds ckn Hkh verb gh vk,xk Noun ughaA 

32. Ans.(b) dkykafdr okD;ka'k ds LFkku ij obsolete (vizpfyr] viz;qDr) dk iz;ksx mfpr 

gksxkA 

33. Ans.(d) okD;  es lq/kj dh vko';drk ugha gSA 'ought to' special verb dgykrh gSA 

;g ;gk¡ ij Question Tag ds :Ik esa iz;qDr gS A The form of question tag 

should be in agreement with the subject and the verb in the 
Statement. 

Directions: (34-43)You have a passage with 10 questions. Read 
the passage carefully and choose the best answer to each 
question out of the four alternatives. 
1. 
34. Ans.(a) 
35. Ans.(d) 
36. Ans.(c) 
37. Ans.(a) 
38.Ans.(c) 
2.  
39. Ans.(a) 
40.  Ans.(b) 
41. Ans.(b) 
42. Ans.(a) 
43. Ans.(c) 
Direction (Q. nos. 44-45): Groups of four words are given. In 
each group, one word is correctly spe;t. find the correctly spelt 
word and mark your answer in the Answer Sheet.   
44. Ans: (c) 
45. Ans: (c) 
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